1. Afactory produced 43216 items in March and 23421 items in April. How many items

2.

3. Population of a town was 257451 two years ago. It has increased by 56782 since then.

4. A website received 139023 hits in firs month and 189723 hits in the second month. In

Problems on Addition

did it produce in the two months?
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In an election Mr James got 20481 votes and Ms Sophia got 23490 votes. Also 1220

voters did not turn up. How many voters were there?
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What is the population of this town now?
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all how many hits did it get in the two months?
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